MIAM IDADE MIAMI-DADE COUNTY, FLORIDA

- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33 130-1563

(305) 3752901  FAX (305) 375-2908
NOTHHEOFACCEPTANCE(NOA)

M.Q. Windows, Inc.
1855 Griffin Road, Suite A-274
Dania, F1 33004

SCOPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by the BCCO and accepted by the Building Code and Product
Review Committee (BCPRC) to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The BCCO (In Miami Dade County) and/or the
AHJ (in areas other than Miami Dade County) reserve the right to have this product or material tested for quality
assurance purposes. If this product or material fails to perform in the accepted manner, the manufacturer will incur
the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of such product or
material within their jurisdiction. BCPRC reserves the right to revoke this acceptance, if it is determined by
BCCO that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the South Florida Building
Code, 1994 Edition for Miami-Dade County or Florida Building Code.

DESCRIPTION: Series “70/83 & 70/114 Outswing Mahogany Wood French Doors

APPROVAL DOCUMENT: Drawing No. MQF70-3out, titled “Series-70/83 70/114 Outswing Wood Doors”,
sheets 1 through 19, prepared by the manufacturer, dated 07/28/97, last revision dated 02/20/02, bearing the
Miami-Dade County Product Control Renewal stamp with the Notice of Acceptance number and expiration date
by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and

following statement. "Miami-Dade County Product Control Approved”, unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 00-0417.04 and, consists of this page 1 as well as approval document mentioned above.

The submitted documentation was reviewed by Raul Rodriguez.

NOA No 02-0129.07

Expiration Date: February 8, 2007
Approval Date: March 14,2002
Page 1




A 4y

-00

14 MAX. 14 MAX. 14 MAX. 14 MAX.

S1/4 4 f t f b5 /4
i ! \ | | / :
51/4 51/4
-Yo—-—\- |~ 4
2 ||° 3
<C
= A =
ﬂ'_ <+
4 l— —4 T
. . ke
z Z o
= & > >
¥ \ g
O
N >
<€ <
= =
< <
] /-—<L-
5 1/4 5 1/4
T T
5 1/4 51/4
% | X X =) SEEALSO b2 | 3
= PAGE 11 s o
< / \ hl N
4] — —¢- A
= =< v}
< 2 0
<+ j <+
< <€
= > I
<t <+ =
¥ - ©
> >
< <
= =
< , <+
N BRi /T
> :¢ >
< ~ <
= \ » / =
¥ © ¥
4 ™ —_—
<
A \ |
51/4 51/4
-1
? | | f Dl
51 4 T T t T + 51 4
/ 14 MAX. 14 MAX. 14 MAX. 14 MAX. /
72 FW & OSW

TYPE OF GLASS MA’E'in?]ER" M?id.?ﬁ]EA
P p——— = v —
G2. LAMINATED GLASS, Saflex 090 312 230 [220-02
1/4 ¢l an.+ 0.090 +1/4 cl. on. '
WP: 173/4 RAISED WOOD PANEL 151 1/8 8.83
VIEWED FROM THE OUTSIDE
CONFIGURATIONS:
X, XX, 0/X, 0/XX
WOOD: Mahogany
14 MAX. 14 MAX. 14 MAX. 14 MAX.
S1/4-t 4 f ; f t 5 1/4
— / \ \ !
5 1/4 N 51/4
—— " —
% i X X i %
- <L> =
: / \ =
= =
<C <C
: 20 NOH-E
<+ j A g
T/ N\ ]
il I T
< (e)}
3 /] z
=L \ | W / -
% | <
<C N <€
= \ " | / =
< o0 <
'_-0—'—\- " —/———4»'_
Sd | N | 1 |
51/4 51/4
1— —
E { i i }
T hd T h T 5 1 4
> ‘/4 14 MAX. 14 MAX. 14 MAX. 14 MAX. 7 /
72 FW & OSW

e

DESION PRESSURE ™

Acting Inward: +58 pst
Acting Outward: -68 psf

- All sizes noted are

maximum sizes. Sizes smaller
in width & height are permitted.

T

)

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

ANCHOR FASTENERS

——Steel Bracket PDF-fS-05
Screwed to the buck frame and
to the door frame with #10 x
1-3/4 in. flat head screws
Min. embedment is 1-1/2 in.

— Screwed through the door
frome to the buck [rame with
#14 x 3 in. flat head screws.
Min. embedment is 1-1/2 in.

OPTIONAL:  Directly screwed
through the frame and through
the masonry with 1/4" x 3"
Tapcon. Embedment is 1-1/2 in.
OR: Using the steel bracket
PDF-FS=05 screwed to the
frome with #10 x 1-3/4 screw
& screwed to the masonry with
1/4" x 2 1/2" Taopcon screw.
Min. embedment is 1-1/2"

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
carners ond 14" max o/c.

SHIM SPACE:
1/4 IN. @ JAMBS, HEAD & SILL

HINGES SPACING

Two pins hinges §# 20-20 by
Simonswerk GmbH secured with
two #8 x 1-1/2" screws

MATERIAL:
BCS: Bichromated steel {open in)
SS: Stainless steel (open out)

QTY/ MAT. DIST. DIST.

SASH FROM  0/C

CORNER  MAX.

2SS 61/8 27"
LEGEND:

Fw: FRAME SIZE, WIDTH

FH: FRAME SIZE, HEIGHT
OSW:. OVERALL SIZE, WIDTH
OSH: OVERALL SIZE, HEIGHT

SERIES 70/83 & 70/114
OUTSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF 70— 3out

Scale: Drawn by:
NONE S. Marcotte
Date drawn: Date revised:
07/28/97 03/15/00
File: Page:
Dode3out_1.dwg 1/‘I 9

ENGINEER:

PRODUCT RENEWED
ACCEPTANCE No, OA -0/ 2. O7

EXPIRATION 17@’45 s %‘7
By /
- G ‘(}’ Vo ;‘»/

/
o pr e oo i i
//9'/u“‘.1jz1:~'u CODE COMPLLANTL CGFFICE

APFROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
DATE
BY . v/

ROL DIVISION
BUILGIIT CODE COMPLIANCE OFFICE
accertance no, 00- 04 1F.04-

4-4-00

2-26-02
G| REVED




MAX. PERI. [MAX. AREA
TYPE OF GLASS [in.] [sq.1t.]
VIEWED FROM THE OUTSIDE Y o 1 o k
CONFIGURATIONS - D lumoows
: me Mg OF EUROPE AND
- -0’2 e —— 4 THE AMERICAS
X, XX, 0/X, 0/XX 2-20°0% 150 TAMINATED GLASS, Soflex .090 317 230
WOOD: Mah 1/4 cl. an.+ 0.090 +1/4 cl. on. ‘ 1855 GRIFFIN ROAD, SUITE A-274
- Manhogany WP 173/4 RAISED WOOD PANEL . | 151 1/8 | 883 DANIA, FL 33004
N H=d-
o SERIES 70/83 & 70/114
DESIGN PRESSURE OUTSWING
Acting Inward: +58 psf WOOD DOORS
/4 14 MAX. 14 MAX. 5 1/4 51/4 14 MAX. 14 MAX. S 1/4 51/4 14 MAX. 14 MAX. 5 1/4 Acting Outward: -68 psf |
I T I I ) I I I y T I I NOTE. AT Stresraled ore METRO DADE COUNTY
R \ R ' R . \ R maximum sizes. Sizes smaller IMPACT RESISTANT
1/4 IS 1/4 51/4 | 5 1/4 51/4 | 5 1/4 in width & height ore permitted. PA201, PA202 & PA203
X X 1| > X e . X A [
<t <C <C < < < Drawi . —
> <K> s = K s s K = ANCHOR FASTENERS rawing no.: MQF 70— Jout
Al \ Al il \ il il \ hl —Steel Brackel PDF-FS-05 || Scole: Orawn by.
4= - +—— - ¢ 4] |~ 4 Screwed {o the buck frame and NONE E. Corbeil
< K 5 < K > > K > to the door frame with #10 «x Date drawn: Date revised:
< g < < < < 1-3/4 in. flot head screws 07/28/97 03/15/00
= W\ = W\ Min. embedment is 1-1/2 in. — .
< : < < W\ g < < N\ : <+ File: Page: 2/19
7 i = - | — - H — — Screwed through the door DadeJout_2.dwg
h I h - R S . frame to the buck frame with
% % % % % WIDE MUNTIN % #14 x 3 in. flot head screws. ENGINEER:
= = = OPTIONAL \ = = (OPTIONAL) = Min. embedment is 1-1/2 in.
Al Al i Al il h OPTIONAL:  Directly screwed

through the frame and through
the masonry with 1/4" x 3

|
=
<

)

|
96 FH

)
~~

i

|
96 FH

lﬂ
/

»)
~

)

|
96 FH

> =< = = = =
< / < < v/ < < / 2 I)c:?pcorb. ﬁmbtidme{\t lisb1_1k/t2 in.
L —— . Using the steel bracke
A g ¥ ¥ ¥ il va : il PDF-FS-05 screwed to the
1T H-——"% +— F -1 T H™ ™ T frame with #10 X 1-3/4 screw R M T AR G R A AT Al ¥ ?Fﬂ
><§ < é é < x 2( < ] é & screwed }o the masonry with Soewer i M B AL N R VYRRl
< Ny ~ s ~ 7 1/4" x 2.1/2" Tapcon screw. I
< 2 3 \ S = p 5 e -
<t " / ” / i\\ S ik Min. embedment is 1-1/2 roision OR=O(A T, o7 -
w hl il © il il © 1 il
| 3 ] " ! ) ) ] IMSTALLATION FASTENERS:
>E' / % % / ’ % x / P x Sgroncinq is dSL},ﬂ ig. gn/)m
< ) corners on max o/c.
= DA% = = WA\ = = = SHmC SPACE:
< / ] < <t / <+ <+ / [ < ' ) | A
2| - st N R 7 7 et 1/4 IN. @ JAMBS, HEAD & SILL
1/4 L5 1/4 5 1/4 |(f 51/4 1/4 KL 51/4
. — e + ——e — 7 ——
{l i l i i | HINGES SPACING
5 1/4 14 MAX. 14 MAX. 51/4 S 1/4 | [ 14 MAX. 14 MAX. 5 1/4 ~ Two pins hinges # 20-20 by
Simozswerk GmbH secured with APPROVED AS COMPLYING WITH THE
. 37 FW & OSW ] ‘ 37 FW & OSW —— 5 1/4 14 MAX 14 MAX. 5 1/4 two #8 x 1-1/2" screws SOUTH FLORIDA BUILDING CODE
MATERIAL: DATE (4% o
¢ 37 FW & OSW d BCS: Bichromated steel (open in)|| gy
RAIL AT SILL RAIL AT SILL SS: Stainless steel {open out) P;,.f.,,, .},,' =
(OPT[ONAL) (OPT'ONAL) LEGEND: RN {TROL DIVISION
QTY/ MAT.  DIST. DIST. BUILDING CODE COMPLIANCE OFFICE
Fw: FRAME SIZE, WIDTH SASH FROM O/C CpproTEanr b 00,04_/?04_
FH: FRAME SIZE, HEIGHT CORNER  may || ‘CeEptanceno =2t 2=

OSW: OVERALL SIZE, WIDTH i O
OSH: OVERALL SIZE. HEIGHT 2SS 61/8

27




A 4400

o 1jay L LTMAX T4 MAX T4 MAX. 14 MAX.
! ! t 1 t 15 1/4
i s x x ; Y
/4 5 174
. O g
<t a z
i s
] ]
‘ e
% <
= & < >
<t 3 N
(o)
(L <
= b=
N N
|~ 4
5 1/4 1
) ——o
o 51/4
Y ———4
% l X X SEEALSO| | x z
= € PpacE 11 I |0
: o~
- / \ hl ~
. . -
<1 % o
! /3y NOH-E | 8
T/ \ -
: <C
= > T
L
<} “
1 N N IS X
if( é
= b=
= \ L «
i r /|
=< . .
<€ < %
E AN v 3
i <
T o Bt
RV i
~ <
< [ | -
g | |2
b/ 5 1/4
A
5 R ! ( \ T
o 1/4-1— ¢ ¢ : b5 1/
14 MAX. 14 MAX. 14 MAX. 14 MAX.
- 72 FW & OSW

MAX. PERI. |MAX. AREA
TYPE OF GLASS [in.] [Sq.ft.]
G2 LAMINATED GLASS, Saflex 090 319 730
1/4 cl. an.+ 0.090 +1/4 cl. an. ' 2-20-02
WP: 1"3/4 RAISED WOOD PANEL 1/8 8.83
VIEWED FROM THE OUTSIDE
CONFIGURATIONS:
X, XX, O/X, O/XX
WOOD: Mahogany
X 14 MAX. . 14 MAX. ) 14 MAX. ) 14 MAX. )
51/4—+ ¢ f t t t t51/4
— ! | | \ / .
51/4 51/4
A0 [x X e
= | =
< / \ <
< q @ €
<r j <r
e / \ g
< <
= =
il i
--w—“—- N \\\ b — ¢ . LL;
z e
p= q p=
S N | SV G
< - >
< < <
= \ ~ / =
)
< <
j -~ A "
< \ / .
: IO N NE
= ) i
51/4 51/4
—
\ ( ( [ ) !
51/4 - | } } | 51/4
14 MAX. 14 MAX. 14 MAX. 14 MAX
72 FW & OSW

DESIGN PRESSURE

Acting Inward: +58 psf
Acting Outword: -68 psf

A“_-.“/

NOTE: Al sizes noted are
maximum sizes. Sizes smaller
in width & height are permitted. 1

WINDOWS

OF EURQPE AND
THE AMERICAS

855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

ANCHOR FASTENERS

——Steel Brocket PDF-FS-05
Screwed to the buck frame and
to the door frame with §10 x
1-3/4 in. flot head screws
Min. embedment is 1-1/2 in.

— Screwed through the door

SERIES 70/83 & 70/114

OUTSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT

A
$4-00
A\

2-20-072
i LEMOVED

frame to the buck frame with PA201, PA202 & PA205
#14 x 3 in. flat head screws.
.4n embedment is 1-1/2 in. .
' / Drawing no.: MQF 70— 3out
OPTIONAL: Dnrectly screwed
through the frame and through Scale: Drawn by:
the mosonry with 1/4" x 3" NONE E. Corbeil
B%PCO” Embtehdmemllsbl L/Z in-{ [ Date drawn: Date revised:
Using the steel bracket 07/28/97 03/15/00
PDF-FS-05 screwed tc/) the Fio /28/ Poge'/ /
frame with #10 x 1-3/4 screw ‘ - 3/19
& screwed to the masonry with DadeSout_3.dwg /
1/4" x 21/ Topcon screw.
Min. ermbedment is 1-1/2" ENGINEER:
INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners ond 14 max o/c.
SHIM SPACE:
1/4 1t @ JAMBS, HEAD & SILL
DATIIOT SENEWE
HINGES SPACING FRODUCT BFNEWED
Two pins hinges # 20-20 by ACCEPTANTE \‘)0;,.0/;74 o7
Simonswerk GmbH secured with ALY
two #8 x 1-1/2" screws EXPIRATION D (i g
MATERIAL: By

BCS: Bichromated steel (open in)
SS: Stainless steel (open out)

“(}UULA 5 9358 P93 R
v'lLDINU CORE (.,J'./.PLlnl“ CL Ul FIC

E

QTY/ MAT. DIST. DIST.

SASH FROM  0/C

CORMER  MAX.

2SS /8" 27
LEGEND:

FW: FRAME SIZE, WIDTH

FH: FRAME SIZE, HEIGHT
OSv¥. OVERALL SIZE, WIDTH
OSH: OVERALL SIZE, HEIGHT

2u
AC

APPROVED A5
SOUTH FLORIDA BUILDING CODE
DATE oAt

A
PRODU!

COMPLYING WITH THE

OHTROL DIVISION

CONE COMPLIANCE OFFICE
00- 041304

iLDING
CLPTANCE NO.




MAX. PERI. [MAX. AREA
TYPE OF GLA :
2-20-02 £ OF GLASS [n] | [sqft]
VIEWED FROM THE OUTSIDE LEGEND: , GRS
FW: FRAME SiZE, WDTH A WINDOWS °
CONFIGURATIONS: FH: FRAME SIZE. HEIGHT s N DU ¢ THE AMERICAS
X, XX, 0/X, 0/XX OSW: OVERALL SIZE, WIDTH (32/ CAVINATED GLASS, ?oﬂex 090 312 230 455 CRFFIN ROAD. SUITE A-274
OSH: OVERALL SIZE, HEIGHT 1/4 ¢l on.+ 0.090 +1/4 . an. ‘ ! IFFIN ROAD, SMii- A”
WOOD: Mah ’ . DANIA, FL 3300
anhogany WP~ 1°3/4 RAISED WOOD PANEL - 1511/8 | 883 A, FL 33004
A 4400 SERIES 70/83 & 70/114
DESIGN PRESSURE :u OUTSWING
] Acting Inward: +58 psf } WOOD DOORS
1/4 14 MAX. 14 MAX. 51/4 51/4 14 MAX. 14 MAX. 51/4 51/4 14 MAX. 14 MAX. 51/4 Acting Outward: —68 psf )
T ' 1 o , - I . — T METRO DADE COUNTY
L L . L e St
T s . :
51/4 | 5 1T/4 5 {/4 5 1/4 51/4 | 5 1/4 in width & height are permitted. PA201, PA202 & PA203
< XP i1 IR X1 ] 1 X111 .
< z z z z ” Orowing no.: MQF 70— 3out
= \ | = = \ | = = \ | = ANCHOR FASTENERS | - -
il ¥ ¥ ¥ ¥ i ——Steel Bracket PDF-FS-05 Scale: rawn by
T -t " ——t +—] ——y Screwed to the buck frame and NONE E. Corbeil
% l < > | > < | B to the door frame with #10 x Date drawn: Date revised:
< < < < < < 1-3/4 in. flat head screws 07/28/97 03/15/00 G-4-00
N s - \\\ I N - \\\ I - Min. embedment is 1-1/2 in. File: Page: 4/1 9
- | g = = | ! - - H - — Screwed through the door || Dodedout_4.dwg A
o - o ><" - - _><' ><'ﬂ ' . frame to the buck frame with
% % = OPTIONAL % % WIDE MUNTIN o #14 x 3 in. flot head screws. ENGINEER: 220-02
= = = p= = (OPTIONAL) = Min. embedment is 1-1/2 in. G
| ZEMIOVETZ
hl hl T hl > = Al s T | OPTIONAL:  Directly screwed '
A O \ =—+t 4 —t % 4] 9 =t through the frame and through
> < L > < o > > 9 |the masonry with 1/4" x 3
< < < \ < < < T Embedment is 1-1/2 i
= = = = = = 0 Ui the el "
_ : Using the steel bracke
i ! ¥ ¥ ¢ : hd i a— / g il POF-FS-05 screwed to the T T L TN L
A S :7 HT T j T T | / H—t frome with $10 x 1-3/4 screw PALDUCT LIV ENWLRD
< : boS = : = = : - > & screwed to the masonry with
= < <§( g N \\ \\ <§( <§i < 1 r é 1/4" x 2 1/2" Tapcon screw. p i 0R=Of2 D, 07
. '; : > > R - :; / < Min. embedment is 1-1/2" ey e .
| o~ » — S S o W —_ S oot — INSTALLATION FASTENERS:
< < = ) = o / P < Spacing is 5-1/4 in. from
L 5’ < < W < < < corners and 14" max o/c.
| |z - = = = SHIM SPACE,
. i S (4 | s N Y | ¥ 1/4 11l © JAMBS, HEAD & SILL
1/4 \\ 1/4 51/4 f 1/4 5 1/4 /V 51/4
* ——® ©— —_— + <+
i (l i ) { % ) HINGES SPACING
5 1/4 14 MAX. 14 MAX. 5 1/4 5 1/4 | | 14 MAX. 14 MAX. 51/4 ! Two pins hinges § 20-20 by
Simonswerk GmbH secured with APPROVLD AS COMPLYING WITH THE
. > e 37 FW & OSW —— 51/4 T4 WA 1A WA 5 1/4 two #8 x 1-1/2" screws SOUTH FLORIDA BUILDING CODE
MATERIAL:
&—— 37 FW & OSW ——+ BCS: Bichromated steel (open in)
RAIL AT SILL ?OAFLLT SJAS;LL SS: Stainless steel (open out)
! L
(OPTIONAL) QTY/ MAT. DIST. oist |1 eveo s eone compiance ormer
SASH FROM 0/C || scccnne w. 00=04-1F-04
CORNER  MAX.
2SS 618 01"




WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANtA, FL 33004

SERIES 70/83 & 70/114
OUTSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF 70— 3out

Scale: Drawn by:
NONE E. Corbelil
Date drawn: Date revised:
07/28/97 03/15/00
File: Page:
Dadelout _5.dwg 5/1 9

ENGINEER:

ACCEFTANCT No, 0RO 29.07

EX2RATION BAT

TTCENT RO L g
CDE COMPLIANCE OF

Using the steel bracket 5
FDF—FS—/OS screwejgj/to the 31/4" 1 3/4"
rame w/#10 x 1-3/4 screw & 1/4" @ Q
screwed to the masonry with 31/ P e eel Bracket iDE_FS_%S
1/4" x 2 1/2" Tapcon screw. HE- 441 I creyed to “f]e buck frame
in. embedment is 1-1/2 — @ . to the door frame with
I \ / M e=—7 0 x 163(1/4 mt, FH1 ?c/rze'yfs
1 = _ n -1/2".
! HOD PANEL 1 C wooo panet  wooo paxeL |3 L — i 1. emhedmen
\ / = aANE:
| —f :51\2 3/4"/% :sl\, 2
T L T < (4 h
i Fee ol Ll L
@ HE-431
HE-431 3/4 1 3/4 3/4
<IN ) 3/4” 7/8'l 31/4"
I PANEL PANEL | v e
e ———— — 1/4 Shlm space
S | 4—1/4" Shim space WDTH WDTH / P
FOR DOORS UP TO 96* FRAME HEIGHT
CONTINUQUS 2 X 4 PT
1 X 4P A—DOOR WDTH DOOR WIDTH— @ ¥00D BUCK
WOOD SHIM
OPERING
1 3/4" 31/4" T T 31/4" 3/8" 3 1/47 31/4" 1 3/47
I HE-441 ACTIVE INACTIVE P G{ HE-441 @
Q== 1@ 9 Heds) [ | )
© [~ ) == ¥ L —
_ ~ ~ A g 0 = - =
<oy A _:: < < m-- ¢ o < e il —4 Screwed through
N e ol ] Ll L the door frame to the
Sy @ © © 4 s | © O buck frame with #14 x
¥ HE-431 ll @ HE-448 HE—43] 3 in. flat head screws.
Minimum embedment
)\@ is 1-1/2 in,
i 31/4"  7/8 /4" 3/40 0" 3 1/20 7/8 3/4” 3/47/8" 3 1/4"
5" 6 7/8 5"
1/4" Shim space 1/4" Shim space
: A OVERALL WIDTH & FRAME WDTH OVERALL WIDTH & FRAME WIDTH o~
Direclly screwed through
the frame to the )
masonry with 1/4" x 3
Tapcon screw.  Minirnum
embedment is 1-1/2 in.
NOTES: (1) IMPACT RESISTANT GLASS ~ (S) HARDWARE SLOT (STD "EUROGROOVE")

INSTALLATION FASTENERS:
Spacing is 5=1/4 in. from
corners & 14" max o/c.

SHIM SPACE:
1/4 I @ JAMBS, HEAD & SILL

2-20-02 é\

G2: LAMINATED GLASS; 174" ¢l an,
0.090" SAFLEX PVB, 1/4" cl. an.

(2) EPDM MIDDLE GASKET L5150
(4) ADJUSTABLE HINGE 20-20

(6) 1/4" x 2" CF GALVANIZED STEEL PLATE REWFORCEMENT NO. AIO6SO
ATTACHED W/ 1 1/2" NO 8 WOOD SCREWS & 16™ 0/C

HANDLE

@ ASTRAGAL WOOD PROFILE HE-448, ATTACHED TO THE INACTIVE SASH
WITH #8 X 1-1/12" SCREWS SPACED & 14" 0/C (MIN. EMBEDMENT: 3/4")

&= CLEAR "SPECTREM 2" SILICONE SEALANT AT SHOWN INTERFACES

APFROVED AS CUMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
0. oeo

gy L) ‘%
SION

prooubTettTrol oiv:
BUILGING CODE COMPLIANCE OLFICL
sccepianct ho, 00~ 041 #-04-

A,

2.20-02
Gil REMOVED '




Directly screwed through

a the frame to_the masonry
1 /\ f with 1/4" x 3" Tapcon screw. WINDOWS
2 ¥ 4 PT WOOD BUCK _ . —— Min. embedment is 1-1/2 in. e
N % — e N | }< THE AMERICAS
1 T + ——— —
E 3 ' T : 5‘; T iy H 5 1855 GRIFFIN ROAD, SUITE A-274
o = 1 N EY I I < DANIA, FL 33004
»a I f . > @ —_ Steel Brocket PDF-FS-05 s " W | CONTINUOUS
: — 2 3/45 o~ w Screwed lo the buck frame & v — Il + ~ 1 X 4PT
I ) pas = tciolhe ]d03c>;4fr_orneF :ith . ) 1T - WOOD SHIM SERIES 70/83 & 70/114
— | : az x I- in. F.H. screws ~ M
= [ £ NG mm embedment is 1-1/2". - OUTSWING
<] R Sy
rY .;PO GE-074 Y WOOD DOORS
= gz N @ METRO DADE COUNTY
5 ghg : IMPACT RESISTANT
& J ] ~ PA201, PA202 & PA203
x 3" #12 wood screw M
— at from internal
S corrier & 14" o/c Orawing no.: MQF70-J3out
[SE]
i Scale: Drawn by:
T - = NONE E. Corbeil
R & Date draown: Date revised:
S J“ @ 07/28/97 03/15,/00
& SASH BAR: File: Paqge:
w % R < Screwed at both ends DadeJlout_6.dwg 6/1 9
T o oo, " to the sash stile with "—\ A
NG T . SEE ALSO #14 2 1/2" wood screw ENGINEER:
S it G 2o
sg ™~ ., |3 ~ PAGE 11
T <
— N
GE-074 M 5 G :
1 52 - N OPTIONAL
Eg ™) RAIL
SR : N e e iy e e
S : Yo T T TN
‘:_'4( GE-074 . Q i LN VY Gy
_ . - . >
| = S SR ~ (%) L g 022,07
o o | | w0 @ v 3 [ : r
= @ ~. T ~ O ~ i - © HS
s ¢ - 1" a SE > .
o _ D) . £ ..
L:E' LﬁJ — M - . -Lf) E — \
= =3 - = M . — Screwed through the door 2
& : o .t O %) { frame to_thef buck frame with
S 9 o N L ) Using the steel bracket : - T - 14 x 3 in. flot head screws.
T 88 - SN " POF-FS-05 screwed lo the N N = fin emociment i 1-1/2 .
)L l\ T | - é ¥ frame w/f10 x 1-3/4 screw & - ) % |
YR Tt \/screﬂwed to the masonry with - % T
| {/4" x 2 1/2" Topcon screw. s R
- . z —_— - in. embedment is 1-1/2 i — 9% 4 PT
%000 BUCK APPROVED AS COMPLYING VATH THt
SCUTH FLORIDA BUILDING CODE
| ' by

1/4" Shim space

CONTINUOUS
1 X 4 PT WOOD SHiM

NOTES:

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners & 14" max o/c.

SHIM SPACE:
1/4 IN. @ JAMBS, HEAD & SILL

(DIMPACT RESISTANT GLASS
2-20-072

G20 LAMIATLY GLASS,
0.090" SAFLEX PVB, 1/4" cl. an,
(2)EPDM MIDDLE GASKET L5150

Lo
174 cloan,

(5) HARDWARE SLOT (STD "EURCGROOVE")
DECORAT!VE WOOD MOULDHIG

© AT 9" MAX. o/c YATH 2x 8 x17 WOOD SCREW
EMBEDMENT IS 7/8".

T-SHAPE STEEL REIMFORCEMENT no. AT2528 SCREWED
“Te=>CLEAR "SPECTREM 2" SILICONE SEALANT AT SHOWM INTERFACES

pOoUCTSETITROL DIVISION
CULDING COUE COMPLIARCE OIHICE
ACCLPIANCE N, _vgéiﬁf_f_’?;g +




_

5 3/8"

2 3/4"

r

=

GE-074

[
N
N
~
N
|

HE-413

-

3" #12 wood screw
/:/_l/ot " from internal
™ corner & 14" o/c

0
o I >
L pe -
o I _'J-P ~
o ‘)
1 6e-064 e
<Zz <Cid
(a8 [o T %
fa)
o
(@]
S
y
=z
<
[o
() =
o feujesl
2 B
GE-064 YT
-\\\; < I‘
: oy ™~
W, )
S0 _
- w
o~ ~
)
:[\ —— /‘ o~
o
o ¢ .
— ‘™
™~
— | . ES
. —+2 3/47 >
B 3 HE-437 _
£
£33 / =
'_E o]
n F /
o
> 2 X 4 PT WOOD BUCK

—— Steel Braocket PDF-FS-05
Screwed o the buck frame &
to the door frame with

{/10 x 1-3/4 in. FH. screws
din. embedment is 1-1/2".

NOTES:

INSTALLATION FASTENERS:
Spacing is 5=1/4 in. from
corners & 147 mox o/c.

SHIM SPACE:
1/4 1. @ JAMBS, HEAD & SILL

GE-074 )
| - 3
E. 5
<t LJ
2 ~ T @ R
(D z
- (@]
> ol e 2
v —_—
i ~ K
i 2 L
= | )
— L
IS P
Q g 51
£d /o
Yoo CONTINUOUS ?
< 1 X 4PT i
> WOOD SHIM ¢
—— Using the steel bracket

PDF-FS-05 screwed to the
frome w/#10 x 1-3/4 screw &
screwed to the masonry with
1/4" x 2.1/2" Tapcon screw.
Min. embedmenl is 1-1/2

CE-074 )
"
. ) .
SN g
M Y >
o~ ~
'e)
T (E [ N
pre
N I
T
o @ :
m
Tl |
T ~
:‘_ LJJ o)
L —
P
VA
[
c 9 CONTINUOUS
voa 1X 4 PT
< WOOD SHIM
~

Directly screwed through

the frame to_the masonry
with 1/4" x 3" Tapcon screw.
Min. embedment is 1~1/2 in.

WINDOWS

OF EURQPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
OUTSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF70-3out

Scale: Drawn by:
NONE E. Corbeil
Date drawn: Date revised:
07/28/97 03/15/00
File: Page:
Dade3out _7.dwg 7/19

ENGINEER:

PRODUCT RENEWED

ACCTFTANTE No OR= O/ 3F. 07
ey s, 2

EXFIRATION DATI
By g
A S TIVISfO

BUILDING CODE COMPLIACR i

PaonlOT o0y

2-20-02
&\ REMOVBO

(1) MPACT RESISTANT GLASS

62 LAMIHATED GLASS, 1/4" ¢l an,
0.090" SAFLEX PVB, 1/4" cl. an.

T e T TN T ™
C  Gmmer A )

(2) EPDM MIDDLE GASKET L5150
HARDWARE SLOT (STD "EUROGROOVE")
ALUMINUN. ANGLE (3/47x 3/47x 1/87)

CLEAR "SPECTREM 2" SILICONE
SEALANT AT SHOWI INTERFACES

AFFROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

BUILDIRG CODE %MPU%CE O[SCEO
&CCEPIANCE r.'o_,,Q;ff_L__‘_ 4-




Using the steel bracket
PDF-FS-05 screwed to the
frame w/§10 x 1-3/4 screw &
screwed 1o the masonry with

1/4" x 2 1/2" Tapcon screw.
I in. embedment is 1-1/2

rv—

<IN NN )

o 1

HE-431

@ T—‘4 3/8"——]

\ Z HE-408 S T
WOOD PANEL 11" -I] ) 3/4, LI WOOD PANEL
e 35'\\4 fg —

v | <
/4" 2 7/8" 3/4

+; 1/4" Shim space

o’

N|

— PANEL
PANEL WIDTH —J‘

WDTH

——Steel Bracket PDF-FS-05
Screwed to the buck frame &

6 1/8" to the door frame with
. ., fﬂO x 1-3/4 in. F.H. screws
@ 41/2 1 3/4 in. embedment is 1-1/2".
\ [ HE-403 T =] S
WooD PANEL | L a b
e N
(Yo
T @ ;
Ll H
< HE-431 i
rﬁl
3/4"21/8" " 3 1/4
1/4" Shim space

CONnNLPJ?us 4—DOOR WDTH ~—~—DOOR WDTH—A
1 X 4 :
. DAYLIGHT 1
WOOD SHIM ” ) J-aTICHT ) ) ) ) )
1 3/4 4 1/2 41/2 3/8 41/2 1 3/4
| 4 3/8"
ACTIVE INACTIVE
' @ - ———— |HE-403 HE=420 5 HE-453 | F———- @ 2 x 4 PT
== i - : c == 3 WOOD BUCK
- = —— ) (©) < L
> S g x ° =
I3, 1z - = :' o~ OI Ol A O| o~ o' u 45 100411008 11 @
T @ I A 7 G| w| || HE-403
¥ HE-431 ll © He-448 HE- 431
i 31/4" 2 1/8" 3/4f 3/ 2 174" 31720 T 21/8" 5/4] /4" 2 1/8" 1 3 1/4"
6 1/8" 9 1/4" 6 1/8"
1/4" Shim space FOR DOORS UP TO 96* FRAME HEIGHT 1/4” Shim space
—4 Screwed through the door
————OVERALL WIDTH & FRAME WDTH ~———OVERALL WIDTH & FRAME WIDTH ,  frome to the buck frame with

Direclly screwed
frame to the masonry with
1/4" x 3" Tapcon. Minimum
embedment is 1-1/2 in.

through the

NOTES:

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners & 14" mox o/c.

SHIM SPACE:

1/4 IN. © JAMBS, HEAD &

f/M x 3 in. flat head screws.
Min. embedment is 1-1/2 in.

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274

DANIA, FL 33004

SERIES 70/83 & 70/114

OUTSWING
WOOD DOORS

METRO DADE COUNTY

IMPACT RESISTANT

PA201, PA202 & PA203

Drawing no.: MQF 70— 3out

Scale: Orawn by:
NONE E. Corbeil
Date drawn: Date revised:
07/28/97 03/15/00
File: Page:
Dade3out_8.dwg 8/1 9

ENGINEER:

'S

SILL

@ IMPACT RESISTANT GLASS

A\ 2-20-02

G2: LAMINATED GLASS; 1/4""cl. an.,
0.090" SAFLEX PVB, 1/4" cl. an.

(2) EPDM MIDDLE GASKET L5150
(4) ADJUSTABLE HINGE 20-20

@ HARDWARE SLOT (STD "EUROGROOVE")

1/4" x 2" CF GALVANIZED STEEL PLATE RENFORCEMENT NO. AI0650
ATTACHED W/ 1 1/2" NO 8 WOOD SCREWS @ 16™ 0/C
HANDLE

ASTRAGAL WOOD PROFILE HE-448, ATTACHED TO THE INACTIVE SASH
WITH #8 X 1-1/12" SCREWS SPACED @ 14" 0/C (MIN. EMBEDMENT: 3/4")

“T=CLEAR "SPECTREM 2" SILICONE SEALANT AT SHOWN INTERFACES

®

APPRQVED AS COMPLYING WITH Thf

SOUTH FLORIDA BUILDING CODE
4 q

DA

By M
PRODUC
BUILDING COUL COMPLIANCE OFFICE
acceprance w, 00 041+ -0

:N

2-20-072
@l Leroved



y  with

2" Topcon ‘screw.

x 21/

PDF-FS-05 screwed to the

frame w/#10 x 1-3/4 screw &
i

Using the steel bracket
screwed to the masonr

1

i

sonry
CONTINUOUS

Tapcon screw.

Directly screwed through
the frame to the ma
with 1/4" x 3’

WINDOWS

OF EURQPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

—— Sleel Bracket
PFD-FS-05 screwed to
the buck frame & to
the door frome with
#0 x 1=3/4" flot

head screws. Minimum
embedment is 1-1/2".

OPTIONAL
RAIL

S O ©

31/4" 2 1/8" 3/4" " " " " " " " :
/ , /8" 3/ 3/4" 2.7/8" 3/4 %/4 3 3/4 21/8 N 1/4 @

l e, METRO DADE COUNTY
HE-431 | IMPACT RESISTANT
: PA201, PA202 & PA203

SERIES 70/83 & 70/114
OUTSWING
WOOD DOORS

T-SHAPE STEEL REINFORCEMENT

no. AT2528 SCREWED AT 9" MAX.
o/c WITH 2x #8 x1” WOOD SCREW.

EMBEDMENT IS 7/8".
SEALANT AT SHOWN INTERFACES

DECORATIVE WOOD MOULDING

n. embedment is 1-1/2

}

&= CLEAR "SPECTREM 2" SILICONE

HE-431 ’

HE-408

Y

:
:

sugstiisiiRneg

l

GE-074

Drawing no.: MQF70—30out

Scale: Drawn by:
NONE E. Corbeil

Date drawn: Date revised:
07/10/97 03/15/00

File: Page:
Dodedout_9.awg| o 9/19 N

ENGINEER: 22.20.02
Gr] REMOVED

1/4" c. on.,

0.090" SAFLEX PVB, 1/4" ¢i. on.

(2) EPDM MIDDLE GASKET L5150

HE-403

|
1 3/4" 41/2"
6 1/8"

]| ||

1/4" Shim space 1/4" Shim space

G2: LAMINATED GLASS:
(5) HARDWARE SLOT (STD "EUROGROOVE")

(DIMPACT RESISTANT GLASS

wood screw.

ends to the sash
stile w/ #14 21/2

SASH BAR
Screwed at both

from internal

1 X 4 PT WOOD SHIM \_\
S
(@]
S~
bl

3" §12 wood screw

al 47 i
corner & 14" o/c

2 X 4PT
WOOD BUCK

©

i FRAME HEIGHT—==—  ———FRAME HEICHT

PRGDUCT RENEWED
acCEPYaNCE NoDB=HPF. 07
ExraTICN v T ARV 8 2207

By ywd

Fororonitel ool

/c.

O

41/2" 9 1/2" — L 6 1/8"
33/ 3/4 3/ 3 /4 /I 2 3/4"  21/8" 3/4 p/ar2 /8 31/

SEE ALSO
PAGE 11

1
max 0

1/4 in. from

”

BUILDING COLE COMPLIANGCTOFAILE

INSTALLATION FASTENERS:
1/4 IN. @ JAMBS, HEAD & SILL

h the door

Spacing is S
corners & 14
SHIM SPACE:

NOTES:

/ Min. embedment is 1-1/2 in.

/

tis 1-1/2 in.

HE-432 [ HE-431

B Asslisiins g

14 x 3 in. figl head screws.

Min. embedmen

—q Screwed throu

g
frame to the buck frame with

#

HE-420 . APPROVED AS COMPLYING WiITH THE
] SOUTH FLORIDA BUHLDING CODE

—1/4" Shim space
/ P 4 1/2" 1 3/4"

TR () A " DAYLIGHT

#—DOOR HEIGHT——e—e ——=——PO0R HEIGHT—
#———DO00R FRAME HEIGHT DOOR FRAME HEIGHT

e

1/4" Shim space

| BUILDILG CODE COMPLIANCE OFFICE
accerianer no, 0= 04 1F. 04

KR

OVERALL HEIGHT -~ OVERALL HEIGHT ———




1/4" Shim

space

— 2 3/4"

GE-074

3" #12 wood screw
- at from internal

corner & 14”7 o/c

OF EUROPE AND
THE AMERICAS

WINDOWS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
OUTSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF 70— 3out

Scale: Drawn by:
NONE S. Marcotte
Date drawn: Date revised:
11/22/97 03/15/00
Fite: Page: 10/19

Dade3out_10.dwg

ENGINEER:

DA ..o

"+
~
- N "
: GE-074
< = | J-—//m/ o
B T 1l = @ o
— J > ¥ 1)
S ; O ()
o g = -
STl AN G : ‘
~ 5 M
~ , B ; 5 M
© lo ~
et = M +— S
< = . . “:TI L
- £ -xr L L=
M N M s *
T = ) < :
s L > > L
= " ) —’r— H . —
171 GE-064 . ~ N 2 ) "
T ~
z =2 > T -
= < i < p) —
o > 0 . - =
25 | R
= : : &5 0
2 s L _
= m AT W?"'m
—l —
w —
? ) — :
= E
o o ®
S 5 £ £
S r h o
L GE-064 - N nF CONTILOLS 7 2 X 4 PT
© : NTINUOU g N ¥O00D BUCK
5 RS > A X 4PT >
b - WOOD SHIM ¢
I -
~ I ——Using the steel bracket Directly screwed through
) PDF-FS-05 screwed to the the frame to the masonry
. . frame w/#10 x 1-3/4 screw & with 1/4” x 3" Tapcon screw.
3 screwed to the masonry with Min. embedment is 1-1/2 in.
o 1/4" x 2 1/2" Topcon screw.
— 'g] @ in. embedment is 1-1/2
o Y r
i o
T
:{ Q NOTES:
— - INSTALLATION FASTNERS:
—— Stee! Bracket PDF-FS-05 i .
M @ ik Screwed to the buck frame & Spacing é(s 15431/4 n. /from
3 to the door frame with corners max o/c.
(] K —+ ¢10 x 1-3/4 in. F.H. screws SHIM SPACE:
- ¢ o Q lin. embedment is 1-1/2". 1/4 IN. @ JAMBS, HEAD & SILL
- £ | Te)
— )
I [

< 12 X 4 PT WOOD BUCK

(5) HARDWARE SLOT (STD "EUROGROOVE”)
(1) WOODEN WATERDRIP ZE-130
@2 ALUMINUM ANGLE (3/47x3/4"x1/8")

= CLEAR "SPECTREM 2" SILICONE
SEALANT AT SHONM INTERFACES

(1) IMPACT RESISTANT GLASS

G2: LAMINATED GLASS; 1/4"'c|. on.,
0.090" SAFLEX PVB, 1/4" ¢l on.

@ EPDM MIDDLE GASKET 15150

APFROVED AS COMPLYING WITH TH{
SOUTH FLORIDA BUILDING CODE
% :

BUILLING CODE COMPLIANCE OFFICE
sceepianee no, 98 -

041704

242002
Gl RE&oVEL




HORIZONTAL MULLION

it
Ll
NIII L
U
HII It

—

%

Transom 3" wood screw #12 at 4"

Minimum embedment is 1-1/2".

Frame Sill internal corner and 14" o/c.
|

from

I

I

I

| !

| i ¢

oLg A L

T T

% .

CY, 759

! [ o~

' _J

B LI

| [__J

- ~ Window o 5/8
Frame Header q:_

4" 14" 14" 14" 14" 4"

- ——
——ti— ¢
—fr————e
e e e 3

| s70/83 ’
\\\ SuT G EXEIB26I
\

Ll 1

Right Frame Stile

Transom Frame

Door Frame

o GOOE

MAX. Fw= 72"

VERTICAL MULLION

Left Frame Stile

feedferlfei Yeolysrag r

Sidelite Frame

NOTES:

FH= FRAME HEIGHT
Fw= FRAME WIDTH

In standard opplications,
sidelites and transoms are
screwed at the factory,

in special cases, job site
installation could be done.
[n this case, holes are
pre—drilled at the factory
and screws are included.

Wood = Mahogony

Door Frame
-

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
OUTSWING
WOOD DOORS

MULLION
SIDE BY SIDE INSTALLATION

METRO DADE COUNTY

14"

72"
14"

MAX. FH
14"

14"

S70/83

LOUTSW!NG 90e®
S70/114

SuTSmnG XL

PA201, PA202 & PA203
Drawing no.: MQF 70— 3out
Scale: Drawn by:

NONE S. Marcotte
Date drawn: Date revised:

07/26/97 03/15/00
File: Page:
CoupJout_1.dw( 11/1 9
ENGINEER:

PRODUCT RENEWED

ACCEPTANCE N, 0= 0/ PF. 07

E‘&?p .‘\ll ON ‘)(\I L’ w‘Q‘IM: i
By A\/:- ~
FROOUCT CONTROL DIVIZICH
PUILDING CODE COMPLIANCE OFFICE

T == CLEAR "SPECTREM 2" SILICONE

SEALANT AT SHOWN INTERFACES

APPROVED AS COMPLYING WITH Tt
SCUTH FLORIDA BUILDING CODE

PRODUC{_COXTROL DIVISION

BUILDING CODE COMPLIANCE OFFICE
accepranice to, 00~ 0% (7 -0 4-




11/2"

2 3/47

51/2°

1 7/8"

13/4"

17/8"

—_——)
GE-074

8 3/4"

31/4"

/%

2 1/4"

31/4"

T S "
3/4

N R
™ ™~ RN
™~ W4
: R (]
< < ¥
~ ~ 4
_ T

GE-074 ™
=
~+ =
LL [s6)]
T _k
~ ©
i « ~
(¥ \ ~
* M
~
- ) ™~
) ©
.¢ >
~
) r~
o~ b
~
© M
D~
<
> (82
o)

17/8"13/4"17/8"

2 3/47

GE-074

3/4

: HE- 441
~
M
=

. Ll <
..LO U Ld
S \HE~432

3/4" ' 7/8" 2 3/4” I 2 3/4" 7,87 1 3/4"

31/2"

13/47 1 7/8

CP HE- 441

GE-074

GE-074

3/4
®

7 1/8
31/4"
e
i HE— 441
HE—4331
2 3/4" 7/8

m \

HE-441

GE-074

/4 27 I

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83
OUTSWING
WOOD DOORS

MULLION
SIDE BY SIDE INSTALLATION

METRO DADE COUNTY
PA201, PA202 & PA203

Orawing no.: MQF 70— Sout

Scale: Drawn by:
1/3=1 S. Marcotte
Date drawn: Date revised:
07/22/97 03/15/00
File: Page:
CoupJout_2.dwg 12/19

ENGINEER:

RO~ O2
! RBHOVED

© e iy i e e
Ve P S SIS A A R o

R U U AT I Y R

Ll 0R= 0129, 07

(1) IMPACT RESISTANT GLASS
2.20-02 A,

G2: LAMINATED GLASS: 1/4"'cl. an.,
0.090" SAFLEX PVB, 1/47 ¢l an.

(2) EPOM MIDDLE GASKET L5150

& 14" o/c;

(4)#12-3 WOOD SCREW AT 4" FROM INTERNAL CORNER
MINIMUM EMBEOMENT 1S 1 1/2".

(5) HARDWARE SLOT (STD. "EUROGROOVE")
(13 DECORATIVE WOOD MOULDING

“B= CLEAR "SPECTREM 2" SILICONE SEALANT AT

T-SHAPE STEEL REINFORCEMENT no. AT2528 SCREWED AT 9"
MAX. o/c WITH 2x #8 x1” WOOD SCREW. EMBEDMENT IS 7/8".

SHOWN INTERFACES

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

DAY, AL ,,_.Q@_,
BY el £ 2
FROUUCH A0l DIVISION
BUILDING CODE  COMPLIANCE OFFICE

ACCEPTANCL NO. QQ;O_‘{‘_I_;LQ"'




2-20-02
G| REMNVED

Ct-074 - GE-074 B
<+ ] =
& \ & . WINDOWS ®
J-:r T k 10 T 4l OF EUROPE AND
~ o8] — [ THE AMERICAS
1) N - ~ : T
o N 1855 GRIFFIN ROAD, SUITE A-274
. > . ' > ) DANIA, FL 33004
< N S 8 L I
" : AR o < 2 SERIES 70/114
. ™ 0 o~ Y —_ Z @ Jle OUTSWING
© L o T WOOD DOORS
™ o v 3 ~ o 8 MULLION
™ : > = — @ 2 : ~ S SIDE BY SIDE INSTALLATION
~ = s | . METRO DADE COUNTY
" ~ © PA201, PA202 & PA203
" 2?0 1. ~ o 0 - >
[ @ — }— 2 3/4 — te) )
.. e > < o { ) Drawing no.: MQF 70— 3out
,} Q 0 z . M . Scale: Drawn by:
@_ GE-074 ; —2 3/4" T % H% — 1/d$=1 - St. MOr?Ot;e
< - ) ate drawn: ate revised:
g ‘ CE—0745/ !, 07/22/97 03/15/00
b 3 ! @ File: Page:
" " " } Coup3out__3.dwg 1 :’)/1 9
3 1/16 l1 3/4 , 31/16 | CE-074
ENGINEER:
9 9/16
HE-410 HE—411 CP 41/2 2" 31/16
- - 49 N PRODUCT RENEWED
S S - HE-420
" Wy — ACCEPTANCE o (8= O/ 29. 07
© © HE-411 =
~ EXPIRATION DATE DET &2
/4" 3 L S
cxnefmowt =f | o By o
¢ el L & ; :
~ PEODUCT CONTRCL DIVISIC
T ULLDING CODE COMPLIANCE GiFICE
L
1M 1/4" <
4 ]/2 2 ]/4” | 4 1/2” 3 3/16” 3/4" 5/4'
HE-420
APPROVED AS COMPLYING WITH THFf
SOUTH FLORIOA BUNLDING CODE
~ s (1) IMPACT RESISTANT GLASS @ HARDWARE SLOT (STD. "EUROGROOVE") DAl Frftf o &<
[an] _ .
s & (13 DECORATIVE ¥0OD MOULDING e
I ®
GZ: LAMINATED GLASS; 1/4 cl. on, T-SHAPE STEEL PEINFORCEMENT no. AT2928 | aunuime cone cosplinme
l 0.090" SAFLEX PVB, | /4'/ o. an. SCREVED AT 8 1ikx. ofc T x #8 X1 Bi‘é‘t"““ CCO‘J; %’“"‘gﬁ 5% 4
| 12 LCCLM AN - +-C
S/4"2 /8" 2 3/4" 1 2 3/4" 21/8"3/4" @ #12-3" WOOD SCREW AT 4" FROM INTERNAL CORNER TB=" CLEAR "SPECTREM 2" SILICONE SEALANT AT
& 14" o/c;  MINIMUM EMBEDMENT IS 1 1/2". SHOWN INTERFACES




—

0.724

u0.197

(2)L5150 EPOM Middie Gosket

Wood Moulding

e

1.772
1.267 T
©
g 2
© -
~
1/4
) t—4
Y N
1/8”V 17\ EBOXX
/ 322
\_‘_?J /
N FINNNNRINWY
SINL BRI Pwpr
: o = wood screw
93/16" =1 = screwed @
hote % ¥ 9 max o/c

AT2528 Steel Reinforcement

0.236

0.315
0.472

L
B

*—0.118
——0.197

% —0.197
N 0.236

+—0.748—

—1

GE-064
Glass Thi

024 ——

Glazing Bead for 1 in.
ckness or for Wood Panel

0.236 . 0.315
+—0.984 —+
® N - 0.197
~ \ ~0.197
o ——
l ~—0.236
1.535

GE-074 Glazing Bead for 1/2 in.
Glass Thickness '

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
OUTSWING
WOOD DDORS

ACCESSORIES & HARDWARE

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF 70— 3out

/86" 0/C

T I*O.HB ' /% Scale: Drawn by:
1=1 E. Fortin
i ? @ Al0650 Date drawn: Date revised:
N / Steel Reinforcement 08,/07/98 03/15/00
™~ @) / File: Page: 14/1 o)
o S % 3out _A&H.dwg
—_ o~
L J ? NOTE: ENGINEER:
0.748 / Yield Point of
% reinforcements:
% 47,000 psi
(12 AN0765/301 L
Aluminum Angle 0.250 R e T
foin i . 02=0l39. 07
@ REFERING TO CROSS SECTIONS DRAWINGS OF THIS SERIE R,
PART | QT DESCRIPTION MATERIAL DIMENSION LOCATION Y
Lf depends on|Brigman, Push—in middle gasket |EPDM 3/4 in. x 1/4 in. Continuous groove around entire perimeter e
Sosh perimeter{no. L5150 of ACTIVE SASH. Continuous groove on
top rail, bottom rail and hinged stile of
IN~ACTIVE SASH
1 per inactive | Additional Reinforcement Al0650 |Galvanized Steel[2.0 in. x .250 in. Located in a notch cut in the locking
sash Al C1020, lenght: 12 in. less stile of the IN-ACTIVE sash.
Cold drawn than inactive sash height

1

Angle no. AN0765/301

Aluminum T5

3/4 x 3/4 x 1/8 in. t.

Located on top of sill

1 per mullion

Decorative continuous moulding

Mahogany wood

1-3/4 in. x 1-1/2 in.

Nailed along the entire length of the mullion;
on top of the T-shape reinforcement.

@O @ ©

1 per mullion

Welded T-Shape reinforcement

Galvanized steel

1-1/4 in. x 1-1/8 in.

Screwed along the entire length of the mullion

no. AT2528 AlSI C1020 at 9" max. o/c with 2x #8 x 17 wood screw.
Cold drown Embedment is 7/8".
GE-064 |1 per glass | Glazing bead (for 1 in. glass Mahogany Wood |3/4 in. x 1 in. Noited through the sash frame at glass or
edge thickness or for wood ponel3 wood paonel perimeter
GE-074 |1 per glass |Glozing bead (for 1/2 in. glass [Mahogony Wood |3/4 in. x 1-1/2 in.  |Nailed through the sash frame at the glass
edqge thickness) perimeter

APPROVED AS COMPLYING WITH THF
SCQUTH FLORIDA BUILDING CODE

QUL DI CUDE cos.qué«c OFFICE
\CCEPTANCE NO. _@‘Ji./ .04-




, E
=
e
7

i

O

@ 2D-20 Adjustable Hinge

-
!
|
S lo]
w
o~
o T
, \\ i
\\
— 2.C66
\L:.l’ L ”;;"/Lp‘;‘;;[’)‘[m/
e TR Sy
: : ——
[0y]
Tg}
)
o~
e b L
/-»-..7.~L\,"v\ Pl r\
|

NOTE: ReFERED TO AS@ IN THE CROSS
StCTIONS DRAWINGS OF THIS SERIE

0,098 . 1.181 "
0.591 , 0.591 |
‘T 2hillips,

M — #/ox 1—3/4"
© /—wcod screw
n 0 window
OA._. e ~ ‘rcme

~
L\j ____=R0.Q79_ 8
N
ik R0.158
S \R0.079
h)
ST S 1 - |
C " {
Ny LI
b Prillips,
< #ox 1=3/4"
wocd screw
{ | tc duck frame
l !

@ PDF-FS-05 Installaticn Bracker

OF EUROPE AND
THE AMERICAS

1835 GRIFFIN ROAD, SUITE A-274
DANIA, FL 320C4

SERIES 70/83 & 70/114
WOOD CASEMENT WINDOW
& WOOD DOOCRS

ACCESSORIES & HARDWARE

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Orawing no.: MCF7O/30UT
Scale: Orcwn by
1=1 =. Fortin

Date drawn: Dcrte revised:

08/07/98 03-15 -0y
File: Pcge:
70_A&H.dwgq I5/19
ENGINEER:

PRODUCT RENEWED

ACCEPTANCE No.O0A=O0/ 29, 07

EXZIRATION DATH

By / ya
7 YRODUCT CONTR LT, Diviskge”

UILUING COLE COMPLIANCE OFFICE

HINGES SPACING - APPROVID AS \
PART #| Qrv. DESCRIPTION | MATERIAL | DIMENSION LGCATION 2 1S LU W T
. ! ILDING ¢
E{Ef\(‘)\ﬁ% ar. [F):QSJM %g 1 Refer to Simons Werk Gmgh, (Bichremated Steel{3.346 in. x 2.538 in. Refer to Table 1 0T
UP 10 CORNER ' Table 1 Adjustable hinges open in) x 2324 in. '
no. 20-20 tainless ?teel By _ } CLALLYS < /
481/8" 2 851/8" 27" open out pPrRODUCT(CortROL DIViS UN
691/8" 3 6 1/8° 27" 2 2 per F.H. Wood screw Galvanized steel [#8 x 1-1/2 in. Screwed through the hinge to the sash BUILDING CODE  COMPLIARCE  OrTICE
9% 1/8" 4 61/8" 27" hinge stile. ACCEPTANCE NO. QQLD.?.G_'04“
TABLE 1 3 Depends on | PROTOL, Installation  |Galvonized steel |3.101 in. x 1.181 in. [5-1/4 in, from comers & 14 in. max. o/c,
frame size | Bracket no. POF-FS—05 x 0.197in. t. between framing member & buck frame.




! ]
£ & S EE N 3 *
S 135 < » 8| oleZlei NESEEE <+
! — 2 £« M| 285 0l O N 2 = L a)
® < ~0 v = —_ O\~ — ” 5 = =) _
w Q0 z 5% | - p =
=3l Sa < oF Olfuloniy S . = oﬂj
33| 88 1 cus | X|s¥E°|g b g == 4 ¥
s” %Om oS | w|s |6 |a 0 g s o 523
Dig2 mm\.ﬂ /WM pr s AP O 0 5 =g MH.
s i |sz3 3.2 |= o ,w SER 3 ZEQ
gk 22| ™~ Q oa | 7 Lol 3 : 3 = 33
€2 Zz lnzZz £ < . : =3l =l . 9 ; S 3 = .
Py 3|l WS X Eaeg | 8 | ¥l & ; : < ==
st g% | £20 LE3 | <] Yool 8| u : . 2 2 =i
o W22 = 212 55 2z S g2 S g 3
3 n D 3 |24low|.. 2] © R 5 Sz, /N3 5%
= O 510 |=°2lsl3] = ~ - EsY g =z3
Pusl Q =] = wl A D o e = 2O
(=3 1%2] O L L Hh 3 m A DT
|
=|
|
|
"FWVYL 3HL NO Q3LNNOW "JNVHL IHL NO Q3LNNOW
H3d33M V OLNI ONIMOOT HOVS HIdIIH V OLNI ONIXDOOT HOV3
‘W3LSAS MO0 LNIOd N33 1414 i 'WILSAS ¥O0T LNIOd XIS
INIA JAILOV W INIA IAILOVNI
p
|
|
N /
(pajunow apis 3joboyso)
'3J1}S 13juad U0 | 'HSYS 3AILOVNI UO v/ N {23}s pajowolyy-Ig ajpuoy adk} Jard7 ‘0¥ | 6
Aioa Aow ysos ay) Jo woyloq sy} wol jybiay sy akys (pajunow a204uns)
'Bf1}s 183usd U0 | 'HSYS 3AILJY U0 v/ N ajpupy uo spuada( a|puo adky JaAaT 0Dy | 8
"JoUl0D Wo}}oq ¢-0-00-~¢90%Z—-9 ou
uo | puo Jousod doy uo | ‘HSYS JAILIYNI U0 v/N [23)s pajowoly)-ig J3UJ0D UOISSIWLSUDS] ‘0)¥434 Z /
“J2UI0D ¢—0-00-6GvLZ—9 ou
Wo}310q uo | puo Jaulod doy uo | *HSYS JAILDY U0 v/N |93}s pajowolyd—ig J3UJ0D UOISSIWSUDS| ‘0)¥34 Z 9
£30-B0—-9.L6¥C—9 ©OU
211}S Jajusd uo | ‘HSYS JAILOVYNI U0 v/N [29}s pajowolyn-ig wsiuoydaw bundo7 ‘0034 | g
¢-0-00-65vLZ—9 ou
'Bf1}s Jajusd uo | 'HSYS IAILDY U0 v/ N (93]S pajpbwolyn—ig WSIUDYd3W Wod burd07 ‘00y34 | 14
104 W0Y30q U0 | puo 104 doy uo | HSYS IAILOYNI ¢-0-00-5629¢—-9 ou
104 Wwoy0q  uo | puo |4 do} uo | HSYS JAILDY v/N [23}s pajbwolyy-Ig }10g y}im WD UOISU3Xa ‘00Y34 14 ¢
"2(1}§ J3}U3d o |
puo ‘jioJ Woyoq uo | ‘pos doy uo | HSYS JAILDYNI
‘3(1}S J9IUBD Uo | ¢£-0-00~05900-8& "ou
puo ‘ioJ Wo}joq uo | ‘ot doy uo | :HSYS JALLDY v/N [98}s pajowouyn-ig HOG JNOY}IM LWJD UOISUSIX3 ‘0)Y34 3 14
IDJ WO}}0q U0 ¢ pup fI0J do} U0 ¢ HSYS JALLOVNI
3|1} Ja}Uad UO § pup
Iod wo330q uo ¢ oy doy uo ¢ HSYS JALLOY v/N [3)s pajowo.yd-lg | £-0-00-225LZ—9 "OU J4adaay ‘0)y34 \Z |
NOILVOO1 NOISNIWIC IVIHILYIN NOILdIHOS3d ‘ALD # 14vd




HORIZONTA
MEMBER

Vv

/\/
L
/

@

AN

0

—_

GLUED FACES @

MULTI-FORKS ASSEMBLY

NOTE: ALL FRAME CORNERS

VERTICAL
MEMBER

ELEVATION
Inside View

/
7

|
e lm,./

|

Sésh Sar

/

\ /*“\ e

SASH BARS ASSEMBLY

NOTE: SQUARE CUT AND SCREWED

/\V‘Frame Stile
\ e

WINDOWS

OF EUROPE AND
THE AMERICAS

1885 CRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
WOOD WINDOW & DOORS

CORNER CONSTRUCTION

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no:MQF 70— Zoutl

Scale: Orawn by:
NONE E. Fortin
Date drawn: Date revised:
08/07/98 03-\% - 0n
File: Page:
70_corner.dwg E ’7/19

ENGINEER:

PRODUCT RENEWED
ACCLETANTE No. @R~ Ol2F. 07
EXEIRATION Do T/ EOQURY 8207

By A’-\/ 4/]

PRUDUDCT JONTRCS

UILPDING COLE COMPLIANCE OFVICE

SOUTH FLORIDA BUILDING CODE
PART #| QTY. DESCRIPTION MATERIAL DIMENSION LOCATION
T " |As needed| Resibois 222 Glue At shown interfaces.
S v i 2555
2 2 per F.H. Wood screw Galvanized steel #14 x 2-1/2 in. {Through the frcme stile to
muntin bar the center of the sash bar.

APP20YVED AS COMPLYING W'TH THt




WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

630 .590 1.536

- SERIES 70/83 & 70/114
AL ||| Hd=2038 OUTSWING WOOD DOORS

@ GLAZING METHOD

METRO DADE COUNTY

/,‘ y IMPACT RESISTANT
{ ‘ [ PA201, PA202 & PA203

t : % Drawing no.: MQF 70— Jout
] CE—074 Scale: Drawn by:

+/-.039

551

1 Ty 7 ‘r-/ 15=1 C Fortlﬂ
N
~ Date drawn: Dale revised:
@ 11/10/98 03/15/00
File: FPage:
\@ @ Jout_glaze.dwg 1 8/1 9
ENGINEER: A
2-20-02
JV &l REHMOVED
WITH LAMINATED GLASS
PoOSUCT RENIWED
poCLrTAr L N R = OfPT OF
3 /
| X
Gkl Gt Lot LI UL U
PART # Qry. DESCRIPTION MATERIAL DIMENSION LOCATION
e 'y e I T e ': e T T T 2
—de e A A AT
TYPE OF GLASS MA?'inP]ERI. MA[§q f\[R]EA 2 1 lmpqcl resistont 1/4 in. Aqneoled qlqss bolh sides |0.551 in. Glass bile] 3/16 in. from glass rebate| APKICYID AS COMPIYING WiTH I
e ———— —— : s Laminated gloss of 0.090 in. Soflex inlerlayer. Refer to Toble 2 SOULH LORIDA BUILDING CODF
N 2-z0-02 4 3 Depends on |SENCO, nails Galvonized sleel 1-1/4 in. 2 in. from corners & vty Fle 00, ‘Ooj
AU S frame size. qauge 16 10 in. o/c. B % oy
G2: LAMINATED GLASS, Soflex .090 317 93,0 4 As needed. |Dow Corning 995 Silicone N/A Al shown interfaces. ' ML (LYSHROL DIV ON
1/4 ¢l ont 0090 +1/4 cl. on. e Silicone Structural SURDAG CODE COMPLIANCE 0r11ct
Adhesive weeriniice Ho, (X0 = 04 13- 04-
GE-074 |1 per glass |Glazing bead (for Mahogony wood 3/4 in. x 1-1/2 in{ Hailed through sash frame

edge. 1/2 in. glass thickness) ol the glass perimeter




1.772

WINDOWS

OF EURQPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
OUTSWING WOOD DOORS
GLAZING METHOD

METRO DADE COUNTY

NOTE:  The perimeter of each solid Mahogany IMPACT RESISTANT
L PA201, PA202 & PA203
wood panel is trimmed to on overall ] !
thickness of 1 in. ‘\@ .
Drawing no.: MQF 70— 3out
Scale: Drown by:
1.5=1 E. Fortin
—] Date drawn: Date revised:
.630 .984 1.063 08/07/98 03/15/00
File: Page: 19 /19
+/=.039|| 1+/=.039 Sout_panel.dwg /
| ENGINEER:
'
o .
: - | s
1
: CE_064 FRCPUCT RENCWED
- £ , .
S y\ ACTVITI CE e 02 02D 07
K © e 1o D FEOIARLE, 200)
@ A
/v S Cowr LA : CRICE
PART # QTY. DESCRIPTION MATERIAL DIMENSION LOCATION
TABLE 3: 1 1 MQ, Raised Wood Panel Mahogany Wood 1-3/4 in. thick. [3/16 in. from glass rebate| APPRUVED AS COMPLYING WITH THE
Refer to Table 3 SOUTH FLORIDA BUILDING CODE
TYPE OF GLASS MA)E: P]ERI' MA[X- ?}R]EA 2 Depends on | SENCO, Nails Galvanized steel 1-1/4 in. 2 in. from corners & S:T
in. Q1L frame size. gouge 16 10 in. o/c. BY Ll -z’-%
: . — PRODUCT_CLATROL DIVISION
WP: 1"3/4 RAISED WOOD PANEL 151 1/8 8.83 3 As needed. | Dow Corning 995 Siicone N/A At shown interfaces. SUILDG. CODL COMPLIANCE OFFICE
Siticone Structural Adhesive CCCLFTARCE NO,,QO_T_O_ﬂﬂ_;_Q"‘
GE-064 1 per panel [ MQ, Glazing bead (for 1 in. glass | Mohogany wood 3/4 in. x 1/2 in. |Nailed through sash frame ot
edge. thickness or for wood panel) glass/wood panel perimeter




